bit — i~ bR EEEEL i (1/0)
Byte 1byte=8bit =45 [-27,2™1], (-1287127)
Short 1short=2byte=16bit [-2'% 91517, (-32768732767)
lchar=2byte=16bit N e
Char (En?iodeilg) . P A1 NERF (CERFE)
Int lint=4byte=32bit #l [-9%2%1-1] (-214748364872147483647)
Long 11long=8byte=64bit RaEm (2% 2%1]  (-922337203685477480879223372036854774807)
Float 1float=4byte=32bit [-2%,2%1-1] (3. 402823e+3871. 401298e-45)
Double ldouble=8byte=64bit WREEES [2% 2911  (1.797693e+30824. 9000000e-324)
Boolean lbyte/8bit FliEiEEA R (true / false)

b 7.5 N e s E 2

IP3£32bit ( 4Byte ) EERA RS T, —IL4E, SES8bIt (1Byte)
— S EEHISEEM0O0000000~ 11111111
—MAEFEESFIZE2M0-2An

1 0 0 0 0 0 0 0 =128
1 1 0 0 0 0 0 0 =192
1 1 1 0 0 0 0 0 =224
1 1 1 1 0 0 0 0 =240
1 1 1 1 1 0 0 0 =248
1 1 1 1 1 1 0 o] =252
1 1 1 1 1 1 1 0 =254
1 1 1 1 1 1 1 1 =255




